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| PART A: Structure

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on vour answer sheet.

156- ------—--—--, this increased patronage poses dangers for them, too.
1) Minority businesses for which it is promising
2) Promising as it is for minority businesses
3) It is as promising for minor businesses as
4) As for minor businesses it is promising
157- There has been no boasting about our social workers---they are merely signs of the

system’s failure, --—-—-—- -- denied or not taken, of things to be eliminated.
1) of opportunity 2) opportunity is
3) and of opportunity to be 4) opportunity

158- The unemployment counts exclude the millions of fully employed workers -—-----e-ee-
that their families remain in poverty.

1) that their wages are low enough 2) so low their wages being
3) the wages of them are too low 4) whose wages are so low

159- To consider the Byzantine military, cultural, and economic advances as differentiated
aspects of a single phenomenon -—-—-eeevv,
1) is reasonable 2) as reasonable as it is
3) which is reasonable 4) to be reasonable

160- With the help of a computer, sold artifacts could be more accessible than - in
bulging museum basements.
1) the pieces are stored 2) be stored by the pieces
3) are the pieces stored 4) stored pieces are

161- Isenberg’s recent research on the cognitive processes of senior managers reveals that
managers’ intuition is neither of these. ------—--—--, senior managers use intuition in at
least five distinct ways.
1) Nonetheless 2) Although

3) Rather 4) Despite



162- From an environmental standpoint, the plastic bag industry should be forced to switch

to newly developed plastics, -—---- ---—- after only 20 years.
1) they begin decomposing 2) that begins to decompose
3) which begins decomposition 4) which begin to decompose

163- For years, scientists have believed that a certain hormone ----——- triggered by Enzyme U.
1) was produced by the human liver was  2) produced by the human liver was
3) which was produced by the human liver 4) was produced by the human liver to be
164- --——--—--, the new owner of the property rapidly increased the production rate of the land.
1) As he was more adept at handling responsibility than did his predecessors
2) More adept than his predecessors at handling responsibility
3) More adeptly than his predecessors handled responsibility
4) Handling responsibility more adept than his predecessors did
165- The bylaws of a corporation specify how the directors of the corporation are to be
clected, whether the existing stockholders will have first right to buy any new stock
issued by the firm, -—-—--—-—,
1) as well as duties of management committees
2) and management committees also have duties
3) and what the duties of management committees will be
4) in addition to the duties that management committees will have

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

166- Writing has never been a ——————— career choice, but a recent study by the Authors'
Guild, a professional organization for book writers, shows that it may not even be a
livable one anymore.

1) modest 2) decent 3) lucrative 4) destitute

167- The proceeds from the exhibition game were given to a charity; this —————- on the
part of the promoters and players was wildly applauded by those in attendance.
1) philanthropy 2) optimism 3) burgeoning 4) intricacy

168- Contrary to the general impression, this quest for import relief has ————-—-— more
companies than it has helped.

1) advanced 2) hurt 3) thrown 4) rejected

169- A consumer may not think of household cleaning products as ————--— substances, but
many of them can be harmful to health, especially if they are used improperly.
1) erroncous 2) innovative 3) impractical 4) hazardous

170- ——--——— information about energy use, people tend to overestimate the amount of
energy used by visible equipment, such as lights, that must be turned on and off and
underestimate that used by unobtrusive equipment, such as water heaters.

1) Demanding 2) Gathering 3) Abusing 4) Lacking

171- No less remarkable than the development of the compact disc has been the use of the
new technology to -- , in better sound than was ever before possible, some of the
classic recorded performances of the pre-LP era,

1) undermine 2) underline 3) revitalize 4) predict




172- The financial crash of October 1987 demonstrated that the world's capital markets are
more closely integrated than ever before and that events in one part of the global village

may be transmitted to the rest of the village almost ——--eeevev,
1) instantaneously  2) adventurously 3) impetuously 4) extemporaneously
173- Some officials report that ——-—— rates for liability insurance are forcing cutbacks in

the operations of everything from local governments and school districts to day-care
centers and recreational facilities.

1) brisk 2) soaring 3) following 4) superficial

174- In stark contrast with his predecessor, who was -———--—, the new CEO is so decisive.
1) influential 2) irresolute 3) aggressive 4) sensible

175- With the —————— of new trade routes at the beginning of modern times the once
thriving town lost its importance, and in 1745 the citizens nearly decided to emigrate en
masse.
1) precision 2) expediency 3) advent 4) misrepresentation

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

While there is no blueprint for transforming a largely government-controlled economy
into a free one, the (176) ~=--mmemnem- of the United Kingdom since 1979 clearly shows
one approach that works: privatization, in which state-owned industries are sold to
private companies. By 1979, the total borrowings and losses of state-owned industries
were (177) --==-=-=----- at about&3 billion a year. By selling many of these industries.

the government has (178) -—=-=m-n- these borrowings and losses, gained over £34
billion from the sales, and now receives tax (179) —--=-meenee-- from the newly privatized
companies. (180) ~=-----mneamx a dramatically improved overall economy, the government
has been able to (181) —-—--meeem- 12.5 percent of the net national debt over a two-year
period.

In fact, privatization has not only rescued individual industries and a whole
economy headed for (182) ---memeeeeeen . but has also raised the level of (183) -—e-eeeeeeee-
in every area. At British Airways and British Gas. for example. productivity
(184) --mmmmmemmeee employee has risen by 20 percent. At Associated British Ports. labor
disruptions (185) —=--seeemee- and thus very troublesome in the 1970's and early 1980's
have now virtually disappeared. At British Telecom, there is no longer a (186) ----------
list—as there always was before privatization—to have a telephone installed.

Part of this improved productivity has come (187) -=--smeemean because the employees
of privatized industries were given the opportunity to buy (188) -----meree-m- in their own
companies. They responded (189) ---seemeeeeee- to the offer of shares: at British
Aerospace, 89 percent of the eligible work force bought shares: at Associated British
Ports, 90 percent: and at British Telecom, 92 percent. When people have a personal
(190) --eeceeereen- in something, they think about it, care about it, work to make it
prosper.

176- 1) chaos 2) mystery 3) experience 4) sequence
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177- 1) performing 2) carrying 3) doing 4) running
178- 1) accrued 2) diminished 3) furnished 4) exchanged
179- 1) subsidies 2) leverage 3) revenues 4) exemption
180- 1) For all 2) Rather than 3) In return for 4) Along with
181- 1) augment 2) withdrew 3) negate 4) repay
182- 1) disaster 2) revival 3) resistance 4) unification

183-
184-
185-
186-
187-
188-
189-
190-

1) interference
1) for

1) meager

1) waiting

1) about

1) commodities
1) sporadically
1) continuation

2) prevalence
2)as

2) common
2) exhausted
2) with

2) shares

2) casually
2) stake

3) performance
3)of

3) needless

3) discriminatory
3) off

3) premises

3) enthusiastically
3) essence

4) transparency
4) per

4) cffortless

4) transitory

4) away

4) debits

4) rigidly

4) fashion

PART D: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

191-

PASSAGE 1:

The history of multinational corporations is closely intertwined with the history of
colonialism, the first multinational corporations being founded to undertake colonial
expeditions at the behest of their European monarchical patrons. Prior to the era of
New Imperialism, a majority of European colonies not held by the Spanish and
Portuguese crowns were administered by chartered multinational corporations.
Examples of such corporations include the British East India Company, the Swedish
Africa Company, and the Hudson's Bay Company. These early corporations facilitated
colonialism by engaging in international trade and exploration, and creating colonial
trading posts. Many of these corporations, such as the South Australia Company and
the Virginia Company. played a direct role in formal colonization by creating and
maintaining settler colonies. Without exception these carly corporations created
differential economic outcomes between their home country and their colonies via a
process of exploiting colonial resources and labor, and investing the resultant profits
and net gain in the home country. The end result of this process was the enrichment of
the colonizer and the impoverishment of the colonized. Some multinational
corporations, such as the Royal African Company, were also responsible for the
logistical component of the Atlantic slave trade, maintaining the ships and ports
required for this vast enterprise. During the 19th century, formal corporate rule over
colonial holdings largely gave way to state-controlled colonies: however, corporate
control over colonial economic affairs persisted in a majority of colonies.

What does the passage mainly discuss?

1) Why colonial powers hid themselves behind multinational corporations

2) The way multinational corporations exerted colonial power in colonies

3) How colonialism gave rise to the emergence of multinational corporations

4) Differences and similarities between colonialism before and after the 19th century




192-

193-

194-

195-

196-

197-

198-

According to the passage, what caused multinational corporations to do business in

colonies?

1) They were asked by their respective governments to do so.

2) There were huge reserves of natural resources in the colonies.

3) They did so in order to maintain and raise their competitive edge.

4) They planned to help their home countries to economically progress very fast.

The author refers to the example of the British East India Company, the Swedish Africa

Company, and the Hudson's Bay Company in order to

1) prove how influential they were

2) stress the fact that such companies were large in number

3) illustrate the fact that they had different nationalities

4) support an earlier statement

It can be understood from the passage that with the emergence of New Imperialism —-.

1) Spanish and Portuguese influence faded away

2) the number of multinational corporations increased

3) there happened a change in the role of multinational corporations in colonies

4) all state-controlled colonies decided to confer more power on multinational corporations

What did multinational corporations mainly do with the profit they made in the colonies?

1) They gave part of it to their government to use it for the prosperity of their own people.

2) They used it to worsen the poverty of the native people in the colonies.

3) They sent it to their home country for investment.

4) They used it to expand their colonial power.

What does the phrase "this vast enterprise” in the passage refer to?

1) slave trade

2) maintaining the ships and ports

3) process of colonization

4) exploitation of the colonies

The passage supports which of the following statements about what happened during

the 19th century?

1) Multinational corporations became less influential in colonial affairs than they
already were.

2) A number of colonies revolted against the tyrannical rule of some corporations and
drove them out.

3) Colonial governments became afraid of the increasing power of the corporations
and pushed them out of this business.

4) Multinational corporations engaged themselves more in the political arena in
colonies than in the economic one.

Which of the following best describes the tone of the passage?

1) Critical and disdainful

2) Calculated indifference

3) Neutral and objective

4) Skeptical and questioning



199-

200-

201-

PASSAGE 2:

The ritual of handing out sweets to employees every Wednesday morning at SAS,
probably the world's biggest software maker, has come to symbolize the famously
employee-friendly culture that Jim Goodnight, the CEO. has cultivated at his firm.
Every aspect of life on the large. leafy SAS campus is designed to bring the best out of
employees by treating them well. Most SAS employees have their own offices, for
example, with the exception of one sales team which wanted to be open-plan.

Since its foundation in 1976, the company has provided free snacks and subsidized
cafes. The SAS campus also offers magnificent sports facilities, subsidized child-care
and early schooling. and the jewel in the crown, its own healthcare centre. free to staff.
SAS estimates that this has reduced its health bills by around $2.5m a year. It also has
a long term "wellness" program, supported by two nutritionists and a "lifestyle
education" scheme. which is expected to yield further cost savings. Already. the
average SAS worker is off sick for only 2.5 days a year.

The only popular employee benefit that SAS does not offer is a stock-option
package. usually mandatory in the software industry. That is because it is a privately
owned company. "We don't have to deal with Sarbanes-Oxley or minority
shareholders suing us every time we turn around, or 25-year-old Wall Street analysts
telling us how to run our business." Mr. Goodnight says enthusiastically.

Not surprisingly, employees tend to stick around, which means SAS has to be
careful whom it recruits and severe in dealing with mistakes: a philosophy that Mr.
Goodnight calls "Hire hard, manage open. fire hard". The average rate of staff turnover
at SAS is around 4% a year, compared with around 10% in the software industry as a
whole. A few years ago a business-school professor calculated that this alone saved
SAS $85m a year in recruitment and training costs. Mr. Goodnight points out that it is
not just the benefits that keep people at SAS—"it's the challenge of the work." SAS is
a leader in the field of "business intelligence". which helps companies use data to
understand their own businesses.

What are the first two paragraphs of the passages primarily concerned with?

1) The effect of good management on employee morale

2) The reason why SAS is employee-friendly

3) How productivity rises when a CEO cares about his employees

4) What employees expect from the company they work for

Based on the first two paragraphs, what is one benefit that SAS most boasts of”?

1) Its cost savings

2) Its employees' choice of their office

3) Its health care scheme

4) Its offering of snacks and subsidized cafes

Which of the following is TURE about one of the sales teams mentioned in paragraph 1?

1) They would like to work off the premises.

2) They do not need an office or any room for their work.

3) They are not given the chance to choose their office on SAS campus.

4) They share the same room in which there are not compartments separating the team
members.
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The word "That" in paragraph 3 refers to

1) stock-option package

2) not offering a stock-option package

3) popular employee benefit

4) SAS itself

What role does the quote from Goodnight in paragraph 3 play in relation to the main

point of the same paragraph?

1) It presents a justifying reason.

2) It raises a radical objection.

3) It introduces a drastic moderation,

4) It presents deep skepticism.

Which of the following best describes the way mistakes made by employees are

addressed at SAS?

1) Harshly 2) Leniently 3) Heedlessly 4) Amiably

The word "this" in paragraph 4 refers to

1) The motto of "Hire hard, manage open, fire hard"

2) The 10% turnover in the software industry

3) The recruitment and training costs

4) The relatively low staff turnover at SAS

The passage best supports which of the following statements?

1) An employee who starts work at SAS is very likely not to ever leave the company.

2) The employees that work at SAS are not willing to purchase the shares of the company.

3) The employees on the sale teams tend to hold meetings in large rooms where there
are no partitions.

4) The employee who is accepted at SAS is already competent enough not to require
any further training.

There is sufficient information in the passage to answer which of the following questions?

1) Does the money SAS save by providing facilities for its employees depend on the
amount it expends?

2) What stimulated Jim Goodnight to attempt to create an employee-friendly culture at SAS?

3) Is there a significant difference between the number of times the average SAS
worker is off sick and the same number for employees in the whole of the software
industry?

4) Is there any factor other than the special facilities SAS provides for its workers that
seem to make its employees tend to stick around?

PASSAGE 3:

A variety of substances from plants have been used historically by painters. and a
number of these are still used today. Linseed oil is an important ingredient of artists’
oil paints. as are poppy seed and sunflower seed oils (which are lighter in color),
acting as the basic medium or binder that fixes the pigments to the canvas or other
surface to be painted.

Though transparent oil varnishes made by dissolving resins in a drying oil were
used in antiquity in Italy and Greece, Flemish artists are credited with developing the
forerunners of the oil paints used today by combining plant oils with powdered
pigments. In the fifteenth century, the Van Eycks are said to have perfected a
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technique of applying pigments in the form of thin translucent glazes made from a
base of walnut or linseed oil. The effect was sensational since it produced a feeling of
texture and dimension that had not been seen before.

The luminous depth characteristic of many oil paintings has been achieved with the
help of two other plant materials: copals and damars. These are tree resins, either
fossilized or recently tapped, that are sometimes used to varnish oil paintings. Applied
in liquid form. they effectively “hold™ the paint when dry and give it a special luster
and transparency. Both copals and damars have been utilized historically in many
paints and lacquers, but their use is now largely confined to oil paint varnishes.

While watercolor paints do not require plant oils for their manufacture. they do use
other plant materials. Gum arabic—as yet unsurpassed in quality by modem chemical
equivalents—is an important ingredient of most smudge-proof watercolors. since in
acting primarily as a binder. it keeps the particles of solid pigment fixed to the paper.
As it absorbs water to form a paste. gum arabic also holds the pigments in suspension
so that they can be evenly applied. Dextrins made from maize and potato starch are
also used to bind the paints™ ingredients and to make them viscous. These watersoluble
materials are especially valuable because of their nontoxicity.

What does the passage mainly discuss?
1) The use of natural and artificial ingredients by painters
2) The use of plant ingredients in paints

3) Types of pigments used in watercolors

4) Oil and watercolor painting techniques

The word “these” in paragraph 1 refers to --—---

1) substances from plants 2) painters

3) poppy seed and sunflower seed oils 4) oil paints

The word “acting” in paragraph 1 is closest in meaning to -——--—--—-——-,
1) playing 2) replacing

3) determining 4) serving

The purpose of a “binder” (paragraph 1) in paints is to <--eceemeeaeas,

1) produce lighter colors of paints

2) create the illusion of texture

3) make pigments adhere to a surface

4) reduce the amount of oil in paint

According to the passage, it seems that Flemish artists
1) helped invent modern paints

2) copied the style of paintings from Italy and Greece
3) resisted change in art

4) used a limited variety of pigments

What can be inferred from the passage about Van Eycks?
1) They developed a technique not dependent on oil.
2) They preferred ancient techniques.

3) They were Flemish painters.

4) Their technique never became widely popular.

The passage mentions that copals and damars can be used to make all of the following
EXCEPT ---meeeemeeee,
1) resins 2) paints 3) lacquers 4) varnishes
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According to the passage, dextrins made from maize and potato starch have the advantage
of being

1) inexpensive 2) very long-lasting

3) easy to manufacture 4) not poisonous
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PART A: Structure

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.
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This example illustrates the strength of the political interests ——-—-—-—-—,

1) her characters which Allison expresses through

2) expressed Allison by and through her characters

3) and her characters Allison expresses through

4) Allison expresses through her characters

In negative environments, no one tries to lift you or anyone else out of the pain, and no

one can find emotional or even physical comfort—that ——-—eeeeeemv and perhaps even
your will to live.

1) lowering your self-worth 2) will lower your self-worth

3) your self-worth to lower 4) your self-worth will be lowered

someone had a scientific reason for wanting to examine his films, the man
lent me copies, and my colleague Wally Friesen and I spent six months carefully
examining them.

1) Delighted that 2) Having been delighted by

3) Delighting of 4) To be delighted that when

By offering fringe benefits, especially —-—-—---—- - available through a competitor, an
employer stands a greater chance of attracting the level of talent it needs or wants.

1) not 2) which are not 3) the ones are not  4) those not

wmmmmmmnnnnaenae the economy is growing or shrinking, finding ways to motivate employees is
always a management concern.

1) Once 2) Although 3) Whether 4) Despite the fact
Use your past to continually create a bigger future, and you will separate yourself from
situations, relationships, —----eecceeaeeu >

1) that can trap your activities there 2) and activities that can trap you there

3) to be trapped there by your activities  4) and there are activities trapping you there
We then tested whether sleep loss affects the expression not only of structural proteins

such as BRP and DLG, but —--—-—-— ----- of the secretory machinery.

1) also of components 2) tested components

3) of components also 4) also components

A European man's average life span is more than five years shorter than - -

1) a woman 2) a woman is 3) a woman's 4) a woman lives
Manned and unmanned missions to the moon and Mars deployed seismometers, which
provided tantalizing, --------—--——-—, information before they stopped operating,.

1) which was limited ultimately 2) ultimately limited

3) but ultimately limited 4) was limited ultimately
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In the late nineteenth century Annie Besant was widely regarded ---------—------ one of the
greatest living public orators, second only to Gladstone in a culture where oratory was
the dominant public medium.

1)as 2) that she was 3) or being 4) among

PART B: Written Expression

Directions: Choose the word or phrase (1), (2), (3), or (4) that must be changed for the sentence
to be correct. Then mark the correct choice on your answer sheet.
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Scat:ered within the planarian body, these endoblasts remain in an unspecialized,
2
stem-cell state, which gl_%p_lgthem at need to differentiate i_nat_oany cell type.
Although the Chinese economy had gradually begun m_g before the trade war
would ;scalale, the economy has undcrpcrformedexpec:ations in recent months
3

amid the tensions.
4

In a recent survey, nine out of ten people used the new product for two weeks

as directed reported that they managed to increase their productivity at work.
3 4
Local economic conditions, which rely onthe student population, would improve if
1

expensive Halltown restaurants were replaced by least expensive ones that also
2 3

provide delivery service.
4
Some analysts predict that the share price of MetaCorp stock will remain at its current
1 2
level or higher as long as most stock analysts continue to recommend investors to buy
3 Rl
the company’s stock.

Investors have yet to learn that something that does two things does one of them

1 2 3
by far better.
S
Current office policy requires that all employees to submit their vacation requests
1

to their supervisors before taking those requests to the human resources department.
3 4
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The modern multinational corporation is described as is originated when the
1
owner-managers of nineteenth —century British firms carrying on international
2 3
trade were superseded by teams of salaried managers organized into hierarchies.
4

Eisenstein to some extent challenges the recent, controversial proposal by Leslie
1 2
Tentler that women the work experience only served to reinforce the attractiveness of
3 - 4
the dominant ideology.

A company that decides to make rather than buy important parts can lock itselftoan
1 2
outdated technology because independent suppliers may be unwilling to share innovations

with assemblers with whom they are competing.
3 4

PART C: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
_mark the correct choice on your answer sheet.
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I try to listen to the opinions of others and not be ————---—- no matter how strongly I feel.
1) penitent 2) persuasive 3) dogmatic 4) intellectual

I tried to —---eemeeeeeem- my friend from engaging in malfeasance, but he did it anyway
and got caught by the police.

1) dissuade 2) deprive 3) extract 4) acquit

When the manager of a company gives an order to his subordinates, he expects his
wishes to be ————eeeeeeeeee .

1) spread 2) executed 3) benefited 4) possessed
Before you hand in your report, you had better scrutinize it for unnoticed errors or any
possible -—---weseeaeeeev in data analysis.

1) highlights 2) derivations 3) inconsistencies 4) rejections
The honest salesman owes his success in business to his good ———-——-n- with the
customers.

1) skepticism 2) apathy 3) partiality 4) rapport

Vast herds of buffalo were -——--------——- on the Great Plains until they were hunted to
near-extinction,

1) exploitative 2) prevalent 3) persistent 4) anomalous
He decided to move to a big city because of a —---—-—-—- of employment opportunities
in his small hometown.

1) dearth 2) negligence 3) disappointment 4) competence
Farmers living near the swollen river feared the raging water would -——-—eeeeeeee their

recently planted fields.
1) irrigate 2) inundate 3) deposit 4) withdraw
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Max didn't want to be guilty of —--eeeeeeueee , 80 he put quotation marks around the words
and cited the author’s name in his bibliography.

1) metaphor 2) plagiarism 3) superfluity 4) citation

As people mature, their —-——-—- -~ skills become more developed, so they are capable
of solving more intellectually complex problems.

1) extrinsic 2) empathic 3) skeptical 4) cognitive
The roommates' relationship became quite - as they helped each other with
homework and chores based on their strengths.

1) shrewd 2) symbiotic 3) heterogeneous 4) autonomous

Knowing she needed to have a solid majority for the budget to pass, the mayor
telephoned all the members of the city council to ~---—— their votes.

1) notify 2) solicit 3) diversify 4) generate
Given Susan's ——----eeemeeaeen personality, no one expected her to take up public speaking;
surprisingly enough, she became a star of the school debate team.

1) retiring 2) furious 3) genteel 4) pretentious

A well-known -—--eeeeeeeeee compares the body's immune system to an army whose
defending troops are the lymphocytes or white blood cells.

1) uniformity 2) generality 3) analogy 4) distinction

As more people try to navigate the legal system by themselves, representing themselves
in court and drawing up their own wills and contracts, the question arises whether they
will be able to --—--—-—-—-—- judicial quagmires without lawyers to guide them.

1) overload 2) defend 3) extend 4) avoid

| PART D: Reading Comprehension

Directions: Read the following three passages and decide which choice (1), (2), (3), or (4) that
best answers each question. Then mark the correct choice on your answer sheet.

PASSAGE I:

Metal technology was revolutionized in the third millennium B.C. with the
development of bronze. Bronze was most commonly made by melting copper with tin,
although copper-arsenic mixtures were also produced. When compared with pure
copper. bronze is the harder metal and it is easier to cast, that is, to make objects by
pouring molten metal into molds. Bronze could be used to make tools that were
technologically superior to stone tools. It was during the Bronze Age. beginning late in
the third millennium B.C., that metal replaced stone for most tools and weapons. In
addition, the evidence for the extraction and working of metals became far more
widespread in Europe. The technology of bronze metalworking developed rapidly and
distinctively in Europe, and it is likely that bronze was manufactured by individuals
who were specialists.

The widespread use of metals had two important social consequences. First, it
provided new opportunities for the accumulation of wealth. Valuable metals could be
accumulated because, unlike earlier tools made of stone, metal objects could be melted
down and recast. Second. the widespread use of metals required the development of
trade networks to guarantee regular supplies of raw materials. Unlike flint, the stone
used for tools, deposits of copper and tin are highly localized. For example, areas such
as Scandinavia and northern Germany were entirely lacking in raw materials for
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making bronze: however, traces of molds and crucibles indicate that bronze was being
cast in those regions. The foundations of the long-distance trade in metals may have
developed from regional trade networks that existed before the Bronze Age.

The control of trade in metals may have provided further opportunities for the
accumulation of wealth. It is in the early Bronze Age, beginning about 2300 B.C., that
we see real evidence for increasing differences in social status and material wealth in
Europe. They are reflected in variations in the wealth placed in burials and in the
amounts of energy that are devoted to burial rituals. The differences are seen most
clearly in areas that are near major sources of metals or along important trade routes.
According to the first paragraph, what took place late in the third millennium B.C.?

1) The Bronze Age ended.

2) Bronze replaced copper as the preferred material for tools.

3) Tools and weapons became expensive to make.

4) Metalworking became established in many areas of Europe.

According to the first paragraph, which of the following is NOT true about the bronze
made in Europe?

1) It was made from a mixture of metals.

2) It largely replaced stone for the making of weapons.

3) It was harder to cast than copper.

4) It was manufactured by specialists.

According to the second paragraph, the fact that metal could be reused meant that in
the Bronze Age —--—---eeeueeuv

1) wealth, in the form of mctals increased

2) flint and bronze trade networks both increased in number

3) metal tools could be traded over long distances

4) copper and other raw material for bronze became valuable

According to the second paragraph, what can be inferred about Scandinavia and
northern Germany from the traces of mold and crucibles found there?

1) These areas supplied bronze to other areas of Europe.

2) These areas were involved in long-distance trade.

3) These areas were not populated until the Bronze Age.

4) These areas were among the first to develop bronze-making technology.

It can be inferred from the second paragraph that one reason there were only regional
trade networks in Europe before the Bronze Age was that --—-eecceeeeeee,

1) before the Bronze Age. tools were not widely used

2) tools made of stone were not valuable

3) flint for stone tools was widely available

4) it was not economical to transport stone over long distances

Which of the following is TRUE about "flint" mentioned in the second paragraph?

1) It was not used to make tools.

2) It was a kind of metal different from bronze.

3) Its deposits were not highly localized.

4) Its deposits were not as abundant as bronze.

The word “They” in paragraph 3 refers to -,

1) metals 2) further opportunities

3) increasing differences 4) burials
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There is sufficient information in the passage to answer which of the following questions?

1) Why is bronze easy to cast?

2) What makes tools made from bronze superior to those made from stone?

3) Why did the widespread use of metals require the development of trade networks?

4) What differences in burial rituals existed between different social classes in societies
with hierarchical social order?

How is the third paragraph organized?

1) The events of a historical period are presented in chronological order.

2) A position is stated, followed by evidence for it.

3) A problem is stated and a solution for it is then proposed.

4) Two theories are described and then contrasted.

PASSAGE 2:

Over the centuries, scholars and inventors have proposed machines that would far
transcend human expectations. There is always the chance that a future technological
breakthrough will facilitate the transformation of such technological dreams into
reality. However, among these technological dreams. there are ideas for machines that
future technological developments cannot make possible because these ideas violate
fundamental scientific laws.

Perpetual-motion devices are probably the best known of such impossible
machines. For more than fifteen hundred years, inventors have offered plans for, and
actually built, machines that given proper construction, materials, and lubrication were
supposed to operate forever. Such devices were often expected to do useful work, and
to generate more energy than was required merely to keep them running.

The classic version of a perpetual-motion device is a wheel that spins continuously
upon its axle without the aid of an external power source. A self-moving wheel is
described in the ancient South Asian treatise Siddhanta Ciromani (A.D. 400-450), and
a thirteenth-century illustration of one appears in the sketchbook of Villard
d"Honnecourt of France. In Villard's device an uneven number of mallets hang loosely
from the rim of a vertically mounted wheel. They are spaced so that the wheel is
constantly unbalanced and therefore always moving.

The European Renaissance, which first witnessed so many other manifestations of
technological fantasy. was a popular time for the invention of perpetual-motion
devices. Often quite elaborate in conception, these might utilize water, air. or the force
of gravity, and all were designed as closed cycle operations: for example. the energy
generated by a continuous stream of water flowing over a waterwheel would be used
to power the pump that lifted the water up to the waterwheel, and so on endlessly.
Along with unceasing motion, some inventors also promised the production of excess
energy that could be used to run the machinery in a flour mill or serve some other
useful purpose. The promise of the boon to humankind of unlimited free power
combined with the tremendous challenge of getting the device to work in the first
place made perpetual motion an exciting venture for many technologists.
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What does the passage mainly discuss?

1) The history of interest in a type of machine

2) Machines that have benefited humanity

3) Technological fantasies that have become reality

4) Advances in energy production technology

The word “facilitate” in paragraph 1 is closest in meaning to -

1) change 2) imagine 3) prove 4) assist
The word “them” in paragraph 2 refers to - :

1) required and generated energy 2) devices used to make machines
3) materials 4) machines

The word “one™ in paragraph 3 refers to -~——-——--—-—,

1) power source 2) self-moving wheel

3) treatise 4) illustration

Which of the following is NOT mentioned in paragraph 2 as one of the considerations in
the building of a perpetual-motion machine?

1) The quality of the construction 2) Materials

3) Lubrication 4) The type of energy

How were the mallets mentioned in paragraph 3 expected to help keep the wheel in
continuous motion?

1) They struck the wheel with great force.

2) They maintained the vertical position of the wheel.

3) They initiated the release of lubricant.

4) They kept the wheel unbalanced.

The waterwheel is mentioned in paragraph 4 in an example of -------—e-—- -

1) a machine that was in common use during the Renaissance

2) a design for a perpetual-motion machine

3) a machine with a long history of use

4) an economical machine for powering a flour mill

Which of the following terms is explained in the passage?

1) “Perpetual-motion devices™ (paragraph 2)

2) “mallets™ (paragraph 3)

3) “Renaissance™ (paragraph 4)

4) “gravity” (paragraph 4)

PASSAGE 3:

Before the age of the industrial revolution, the basic sources of power were humans,
animals, wind, and water. Humans and animals were limited in their capacity to drive
the large mills needed to grind corn or operate a sawmill. Wind was unreliable because
it was not constant. Water-driven mills depended on the seasons—streams dried up in
the summer and froze in the winter. And water mills could be placed only where there
was a powerful river current or a waterfall. Clearly what was needed was a power
source that was constant and that could be located just about anywhere. The steam
engine. invented and improved on in Great Britain, met those needs and stimulated the
island’s industrial growth. As late as the 1860°s more than half of the energy needs of
manufacturing in Great Britain and the United States were still supplied by people,
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animals, and wind- and water-operated machines, but the steam engine was clearly the
wave of the future.

The steam engine had first been used to pump out coal mines. As mining shafts
were dug ever deeper, water in the mines became an increasing hindrance. In 1712 the
British engineer Thomas Newcomen invented a steam-operated waterpump. Its use
spread rapidly. The first steam engine in the Americas was a Newcomen engine
installed in New Jersey in 1753. The Scottish inventor James Watt improved on the
Newcomen engine considerably, making it twice as efficient in energy output.
Eventually, by making a piston-related modification, he made the stcam engine
capable of powering a variety of machines. Thus, mills that had been powered by
water or wind could be operated by steam engines. Further changes improved Watt’s
engines—most notably, the invention of the powerful and energy-efficient high
pressure steam engine. The use of steam engines spread from Great Britain to
continental Europe and the United States.

The steam engine centralized the workplace. With the machine as a central power
source, it became practical and commonplace to organize work in a central factory.
Also, the location of a factory where it was most convenient eliminated the expense of
transporting raw materials to be worked on at a power source such as a waterfall.

What is the passage mainly about?

1) The large number of technical problems faced by steam engine designers

2) The similarities between early energy sources and the steam engine

3) The contribution of the steam engine to industrial development

4) The competition for energy sources between Great Britain and the United States
The passage mentions all of the following as limitations of power sources before steam
engines EXCEPT the —-—-eemeeeeee,

1) seasonal availability of water

2) restricted locations of waterfalls

3) constant lack of wind energy

4) limited physical strength of animals and humans

Why does the author use the word “Clearly” in paragraph 1?

1) To explain an unclear relationship between wind and waterfalls

2) To identify the kind of solution needed for the problems described earlier

3) To emphasize the need for many different energy sources

4) To explain the importance of water-driven mills

Which of the following does the author mention as an important advantage of the steam
engine?

1) It could be set up in almost any location.

2) It was manufactured in more than one country.

3) It could be produced in large numbers.

4) It could run on power produced by waterfalls.

By stating that “the steam engine was clearly the wave of the future” in paragraph 1, the
author suggests that the steam engine ——--—--—--e--—,

1) would be used along with wind- and water-operated machines

2) was too complex for its time

3) would soon begin to dominate

4) was slowly becoming outdated
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273- Which of the following best describes the tone of the passage?
1) Objectivity 2) Indifference 3) Amusement 4) Humiliation
274- According to the passage, how did the steam engine change factory production?
1) It created new ways of finding raw materials.
2) It made it less practical for work to be concentrated in a central factory.
3) It made it easy for workers to master new technologies.
4) It reduced the cost of delivering materials to power sources.
275- The phrase “Further changes” in paragraph 2 refers to changes that included which of
the following?
1) Making the steam engine power a variety of machines
2) The replacement of water and wind by steam engines
3) The invention of the high pressure steam engine
4) A spread of steam engines to continental Europe
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